SOLVIN G QUADRATIC E QUATIoNS RY FAcTotiSiNng (2)

Solvé_:
4-::.7' +2lx +§ =0

2 +llx +14 =0

2

A —4x -3 =0

0% + 1Ry -3 = O

1x —4y +1 =0
1

Ix =% =2 =0

Cxt =17 +6 =0

4.;1_1"61 = 0
26x — 16 = 0O
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SOLVING QUADZATIC EQUATIONS BY FAcToRSING (2) EXERCISE

4 =" +2x +S =o

Ax$ =20

A +x +20x+S =0
1(4:4-“) +§(4x+l) =0
(x+€)(ax+) =0

Eitler x +§ =0
= x = -
or x4+ ) =0
= dx= -]
5 %= -

Sp'\al’s’on 51 = -<
= -4
* T T4

R
= X = 3z
or X 2 ZO
= > = -2
Solvtran X - —%
W = =2
<
3) 4x" —4x -3 =0
dx=3 = ~12
—lx +2

4 -Cx +2=<-3 =0

2,4(2; -3) + 1(21-3) o
(21 -H)(zz-'g) =0
E ither

2=+ | =0

2t +1llx +14 =0

2R 146 = 2%
+ 4x +7

Lo +4x + T 414 = O

Zu(x+ z) + 7(x+z) =0

(2x+7)(x+2) =o
Eitler

22+ 77 =0

= 2x=-7

or

Soluhon g'x = = 3
= 3
plA 2
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SOLVING QUADLATIC EQUATIONS RBY FAcToriSING C2) ExghciSE

/0741 +13x -3 =0

lO0x~3 = =30
+I1§ » -2

0% +1Sx =25 =3 = O
51(2::.4'3)—/(2:(4—3)::'0
(S= —D)(25¢+3) =0

o

Eithes -1 =0
2 x = |

of Ix -1 =0
= 3% = |
» x = %

-
-

)

Solvtion >C
p &

.
i
3

E"t‘\-lf gx -':
=2 Sx = |
= T L
or 2x +3 =0
> 2x = -3
- - -3
- > & >
S.lu‘.’lof\ gu: ‘é‘
- o 3
1 - /z
I — 4w +1 =0
Ixl =3
-l x=3

3:‘3 -% =3x+| =0
1(3&") ‘3(31"‘) o

(:L-I)(Bx-') =0

é) 3x2 -x -2 =0
13x-2=-¢
‘Zx"’l

Tot —3In 4+ 2x-2 = O
‘3:(()(—’)4— 2(1-’) =0
(3x+2)(x=-1) =0

E  Eher S +2 =0

= 3x T -2

] o —-}a

- X = 3

o/ XN ~-) = O

- x:’l

-2
3
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7) {DLl—l—71 +6 = O

§xb =30
“ICx-2

Sx'=1§x —2=% +6 =0

S':x(ac—l) —Z(D(-?.):o

(sx-2)(x-3) =0

Eitkes $x —

:L'-—'-3

[ Séluﬁaﬂ gx = =-¢

x =&

1)

4—11 -4 =0
(2x)t -3* =0
(zx+z><21 —‘3) =yal

E €\er 'Zz +3 o
= 2x = -3
=) % = - 3/2
o/ 2x -~ 3 =@
= 2x =3

9) ocl,—zf =0

2 T
x -~ § =0

(x+$)(>(-§) =0

Either ¢ +§ = O
= x= -¢
ovY >3 -5 T 0O

'foxl -6 =o0
ng)'z "4—1:0
(§x+a)(Sx-4) =0

Ca+a4 =0
= Sx =4

= x = -

E .'{‘\«_r

Sx -4 =0
D S =&
=2 > :4'/3'

Sol vbion

o

'J_C'-"'f y o
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